
NJ-105 1 P.T.O. 

Seat No. :  _______________ 
  

NJ-105 
November-2013 

B.A. (Sem.-V) 

CC-301 : Economics 

(Macro Economics) 
 
Time :  3 Hours]  [Max. Marks : 70 
 
 

1. ¶ÛÛ¨ÛÛ× ¸ÛÜÁõ¾ÛÛ¨Û¶ÛÛ ÜÍÛ±ùÛ×©ÛÛé¾ÛÛ× ‘ïéõÜ¾¼Ûó›÷¶ÛÛ× ÁõÛéïõ¦ø ¸ÛäÁõÛ×©Û ÍÛ¾ÛàïõÁõ¨Û’¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. …Û ÍÛ¾ÛàïõÁõ¨Û 
ÜºõÉÛÁõ¶ÛÛ× ÜÍÛ±ùÛ×©Û ïõÁõ©ÛÛ× ïõˆ Áõà©Ûé ˜ÛÜ§øýÛÛ©Ûä× ™öé ? 14 

 Discuss the ‘Cambridge’ cash balances approach to the Quantity Theory of Money. 
How far is it superior to the Fisher’s Theory ? 

…¬ÛÈÛÛ/OR 

 (1) ¶ÛÛ¨ÛÛ×¶Ûä× ¾ÛæÅýÛ ¾ÛÛ¸ÛÈÛÛ¾ÛÛ× ½ÛÛÈÛ ÍÛæ˜Ûïõ…Û×ïõ¶Ûä× ¾ÛÐü«ÈÛ ˜Û˜ÛÛë. 
  Discuss the importance of index number in measuring the value of money. 

 (2) ©ÛïÙõ¼Û±ù …¸Ûé“ÛÛ…Ûé¶Ûà ¸ÛÜÁõïõÅ¸Û¶ÛÛ¶ÛÛé ”ýÛÛÅÛ …Û¸ÛÛé. 
  Explain the concept of ‘Rational Expectation Hypothesis’. 

 

2. ºäõ•ÛÛÈÛÛ¶ÛÛé …¬ÛÙ ©Û¬ÛÛ ïõÛÁõ¨ÛÛé ›÷¨ÛÛÈÛÛé ©Û¬ÛÛ ºäõ•ÛÛÈÛÛ¶Ûà ÍÛ¾ÛÍýÛÛ ÐüÅÛ ïõÁõÈÛÛ¶ÛÛ× ¸Û•ÛÅÛÛ×…Ûé¶ÛÛé Ü¶ÛþëùÉÛ ïõÁõÛé. 14 

 Explain the meanings and various causes of inflation. Discuss the various steps to control 
it. 

…¬ÛÈÛÛ/OR 

 (1) ¾ÛÛ×•Û›÷¶ýÛ …¶Ûé ”Û˜ÛÙ ¸ÛóéÜÁõ©Û ºäõ•ÛÛÈÛÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø ïõÁõÛé. 
  Show the difference between demand pull and cost push inflation. 

 (2) ‘ÜºõÜÅÛ¸ÍÛ Áéõ”ÛÛ’ ˜Û˜ÛÛÙ ïõÁõÛé. 
  Explain the concept of Philips Curve. 

 

3. “¸ÛäÁõÈÛ¥øÛé ©Ûé¶Ûà ¾ÛÛ×•Û ÍÈÛýÛ¾ÛÕ ÍÛ›÷ë ™öé.” ‘ÍÛé’ ¶ÛÛ ¼Û›ÛÁõ¶ÛÛ× …Û ÜÍÛ±ùÛ×©Û¶Ûà ÍÛ¾Ûà“ÛÛ ïõÁõÛé. 14 

 ‘Supply creates its own demand.’ Elaborate this principle of say’s market.  

    …¬ÛÈÛÛ/OR 

 (1) ïéõˆ¶ÍÛ¶ÛÛé …ÍÛÁõïõÛÁõïõ ¾ÛÛ×•Û¶ÛÛé ÜÍÛ±ùÛ×©Û ˜Û˜ÛÛë. 
  Discuss the Keynesian effective demand theory. 

 (2) ÈÛ¸ÛÁõÛÉÛ ÜÈÛµÛéýÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÁõà¼ÛÇÛé ›÷¨ÛÛÈÛÛé. 
  Explain the various determinants of the consumption function. 
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4. “ÈÛé¸ÛÛÁõ˜Û’õ …é ¶ÛÛ¨ÛÛïõàýÛ –Û¤ø¶ÛÛ ™öé.” ÐüÛé¤Öéø¶ÛÛ× ÜÍÛ±ùÛ×©Û¶Ûà Äõ¸ÛÁéõ”ÛÛ …Û¸ÛÛé. 14 

 ‘The trade cycle is a purely monetary phenomenon.’ Explain the Hawtrey’s theory. 

…¬ÛÈÛÛ/OR 

 “ÈÛé¸ÛÛÁõ˜Û’õ …é •ÛÜ©Û-•Ûä¨Ûïõ¶ÛÛ ÜÍÛ±ùÛ×©Û Š¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé.” ÜÐüîÍÛ¶ÛÛ ÈÛé¸ÛÛÁõ˜Û’õ¶ÛÛ× ÜÍÛ±ùÛ×©Û¶Ûà ÍÛ¾Ûà“ÛÛ 
ïõÁõÛé. 

 “The trade cycles depend on the multiplier accelerator principle.” Analyse the Hicksian 
theory. 

 

5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé. 14 

 Choose the correct answer : 

 (1) ÍÛæ˜Ûïõ…Û×ïõ¶Ûà Áõ˜Û¶ÛÛ ïõÁõÈÛÛ¾ÛÛ× ________ ÈÛÌÛÙ ¾ÛÐü«ÈÛ¶Ûä× ÐüÛéýÛ ™öé. 

  (a) ÈÛ©ÛÙ¾ÛÛ¶Û¶Ûä×  (b) ½ÛÜÈÛÌýÛ¶Ûä× (c) ¸ÛÛýÛÛ¶Ûä× 

  To create Index number _______ is used. 

  (a) current year (b) future year (c) base year   

 (2) Ü»õ¦ø¾Ûé¶Û¶ÛÛ× ¶ÛÛ¨ÛÛ× ¸ÛÜÁõ¾ÛÛ¨Û¶ÛÛ ÜÍÛ±ùÛ×©Û¾ÛÛ× ›÷¨ÛÛÈýÛÛ ¸Ûó¾ÛÛ¨Ûé ÅÛÛéïõÛé ›÷é ¶ÛÛ¨ÛÛ×¶ÛÛé ÍÛ×•ÛóÐü ïõÁéõ ™öé. ©Ûé¶ÛÛé 
…ÛµÛÛÁõ ________ Š¸ÛÁõ ™öé. 

  (a) ½ÛÜÈÛÌýÛ¶Ûà …ÛÈÛïõ  

  (b) ïõÛýÛ¾Ûà …ÛÈÛïõ  

  (c) ÈÛ©ÛÙ¾ÛÛ¶Û …ÛÈÛïõ 

  According to Friedman’s Quantity Theory of Money people’s capacity to hold the 
cash is dependent on their ________. 

  (a) future income  

  (b) permanent income   

  (c)    present income  

 (3) ÜºõÉÛÁõ¶ÛÛ× ¶ÛÛ¨ÛÛ× ¸ÛÁõà¾ÛÛ¨Û¶ÛÛ× ÜÍÛ±ùÛ×©Û¾ÛÛ× ¶ÛÛ¨ÛÛ× ¸ÛäÁõÈÛ¥øÛ …¶Ûé ¶ÛÛ¨ÛÛ×¶ÛÛ× ¾ÛæÅýÛ ÈÛ˜˜Ûé ________ 
ÍÛ×¼Û×µÛ þùÉÛÛÙÈýÛÛé ™öé. 

  (a) ÍÛàµÛÛé õ (b) ÍÛÁõ”ÛÛéõ (c) ÈýÛÍ©Û 

  In Fisher’s quantity theory of money there is, ________ relationship between the 
money supply and value of money. 

  (a) direct (b) equal (c) inverse 

 (4) …éïõ ›÷ ÈÛÌÛÙ¾ÛÛ× ½ÛÛÈÛ ÍÛ¸ÛÛ¤øà ªÛ¨Û …Û×ïõ ›÷é¤øÅÛà ÿ˜Ûé ›÷©Ûà ÁõÐéü ©ÛÛé _________ ºäõ•ÛÛÈÛÛé 
…ÜÍ©Û©ÈÛ¾ÛÛ× …ÛÈÛé.  

  (a) ïæõþù©ÛÛé õ (b) þùÛé¦ø©ÛÛéõ (c) ˜ÛÛÅÛ©ÛÛé 

  When prices rise very fast at triple digit rates per annum, it is usually called ______ 
inflation. 

  (a) galloping (b) running (c) walking (trotting) 
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 (5) ÜºõÅÛà¸ÍÛ Áéõ”ÛÛ¾ÛÛ× ________ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ þùÉÛÛÙÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

  (a) ¼ÛéÁõÛé›÷•ÛÛÁõà¶ÛÛé þùÁõ – ÈÛé©Û¶Û þùÁ 

 õõ (b) ÁõÛé›÷•ÛÛÁõà¶ÛÛé þùÁõ – ÈÛé©Û¶Û þùÁõ 

 õ (c) …ÛÈÛïõ¶ÛÛé þùÁõ – ÈÛé©Û¶Û þùÁõ 

  The Phillips Curve examine the relationship between ________. 

  (a) rate of unemployment-rate of wage 

  (b) rate of employment – rate of wage 

  (c) rate of income – rate of wage  

 (6) ºäõ•ÛÛÈÛÛ¶Ûé ÐüÅÛ ïõÁõÈÛÛ¶ÛÛ× ¶ÛÛ¨ÛÛïõàýÛ ¸Û•ÛÅÛÛ×…Ûé¶ÛÛé ¾Ûä”ýÛ Š°éùÉÛ ________ ™öé. 

  (a) ¾ÛÛ×•Û –Û¤øÛ¦øÈÛÛ¶ÛÛé õ  

  (b) ¶ÛÛ¨ÛÛïõàýÛ …ÛÈÛïõ –Û¤øÛ¦øÈÛÛ¶ÛÛé 

 õ (c) ”Û˜ÛÙ –Û¤øÛ¦øÈÛÛ¶ÛÛé 

  The main objective of monetary measures to check the inflation is _______. 

  (a) reducing demand  

  (b) reducing money income 

  (c) reducing expenditure 

 (7) Ü»õ¦ø¾Ûé¶Û ¶ÛÛ¨ÛÛ× ¸ÛäÁõÈÛ¥øÛ¶ÛÛ× ¸ÛÁõàÈÛ©ÛÙ¶Û ¾ÛÛ¤éø _________ ¶ÛàÜ©Û¶Ûà ÜÐü¾ÛÛýÛ©Û ïõÁéõ ™öé. 

  (a) ïõÛýÛþùÛïõàýÛõ (b) ÜÈÛÈÛéïõ ¼ÛäÜ±ù¶Ûàõ (c) ÁõÛ›÷ïõÛéÌÛàýÛ 

  Friedman recommends ________ policy for changes in money supply. 

  (a) rules  (b) discretion (c) fiscal 

 (8) …ÍÛÁõïõÛÁõïõ ¾ÛÛ×•Û …¬ÛÙ©Û×ªÛ¾ÛÛ× _________ ¶Û‘õà ïõÁéõ ™öé. 

  (a) ÁõÛé›÷•ÛÛÁõàõ (b) Ýïõ¾Û©Ûõ (c) ÈÛ¸ÛÁõÛÉÛ 

  The _______ is determined by effective demand in the economy. 

  (a) level of employment 

  (b) price level 

  (c) level of consumption  

 (9) ïéõˆ¶ÍÛ¶ÛÛ× ÈÛ¸ÛÁõÛÉÛ ÜÈÛµÛéýÛ ¸Ûó¾ÛÛ¨Ûé, …ÛÈÛïõ¶ÛÛ× ÈÛµÛÛÁõÛ ÍÛÛ¾Ûé ÈÛ¸ÛÁõÛÉÛà ”Û˜ÛÙ¾ÛÛ× ¬Û©ÛÛé ÈÛµÛÛÁõÛé 
_________ ÐüÛéýÛ. 

  (a) ÍÛÁõ”ÛÛéõ (b) …Ûé™öÛéõ (c) ÈÛµÛä 

  In Keynesian consumption function, when income increases, consumption 
expenditure also increases but by ________ amount. 

  (a) equal  (b) smaller (c) greater 
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 (10) ïéõˆ¶ÍÛé _________ •Ûä¨Ûïõ¶ÛÛé ”ýÛÛÅÛ …Û¸ýÛÛé. 

  (a) ÁõÛé›÷•ÛÛÁõà¶ÛÛõ (b) ¾Ûæ¦øàÁõÛéïõÛ¨Û¶ÛÛõ (c) ÈÛ¸ÛÁõÛÉÛ¶ÛÛ 

  Keynes formulates the ______ multiplier. 

  (a) employment (b) investment (c) consumption  

 (11) ÜÈÛïõÍÛéÅÛ¶ÛÛ× ÈÛé¸ÛÛÁõ˜Û’õ¶ÛÛ× ÜÍÛ±ùÛ×©Û ¸Ûó¾ÛÛ¨Ûé, ÈÛé¸ÛÛÁõ˜Û’õ¶Ûä× ¾Ûä”ýÛ ïõÛÁõ¨Û …é _________ …ÛÈÛéÅÛ 
¸ÛÜÁõÈÛ©ÛÙ¶Û ™öé. 

  (a) Ýïõ¾Û©Û¾ÛÛ×õ (b) ¶ÛÛ¨ÛÛ×¾ÛÛ×õ (c) ¾Ûæ¦øàÁõÛéïõÛ¨Û¾ÛÛ× 

  According to Wicksell, the main cause of trade cycle is the change in _______. 

  (a) price  (b) money (c) investment 

 (12) ÐüÛýÛïõ¶Ûà ÈÛé¸ÛÛÁõ˜Û’õ¶Ûà Ü¬ÛýÛÁõà ¸Ûó¾ÛÛ¨Ûé, šýÛÛÁéõ ¼Û›ÛÁõ ÈýÛÛ›÷ þùÁõ …é ïäõþùÁõ©Ûà ÈýÛÛ›÷ þùÁõ ïõÁõ©ÛÛ× 
¶ÛÛ¶ÛÛé ÐüÛéýÛ ©ýÛÛÁéõ …¬ÛÙ©Û×ªÛ¾ÛÛ× _________ ¸ÛÜÁõÜÍ¬ÛÜ©Û ›ÛéÈÛÛ ¾ÛÇé. 

  (a) ÍÛ¾Û©ÛäÅÛÛ¶Ûàõ (b) ¾Û×þùà¶Ûàõ (c) ºäõ•ÛÛÈÛÛ¶Ûà 

  In Hayek’s trade cycles theory, when the market rate is smaller than natural rate of 
interest, the economy is in a _______ condition. 

  (a) equilibrium (b) depressionary (c) prosperity 

 (13) ÈÛé¸ÛÛÁõ˜Û’õ¾ÛÛ× šýÛÛÁéõ ¾Û×þùà¶Ûà ÜÍ¬ÛÜ©Û …ÛÈÛé ©ýÛÛÁéõ, _________ ¾ÛÛ× ÍÛ©Û©Û –Û¤øÛ¦øÛé ¬ÛÛýÛ ™öé. 

  (a) ¼Û˜Û©ÛÛé õ  

  (b) ¼ÛµÛà ›÷ …ÛÜ¬ÛÙïõ ¸ÛóÈÛèÜ«Û…Ûéõ  

  (c) ÜÈÛÜ¶Û¾ÛýÛ  

  In depression, there is a general decline in_________. 

  (a) savings  

  (b) all economic activity 

  (c) exchange  

 (14) ÐüÛé¤Öéø¶ÛÛ× ÈÛé¸ÛÛÁõ˜Û’õ¶ÛÛ× ÜÍÛ±ùÛ×©Û¾ÛÛ× ›÷¨ÛÛÈýÛÛ ¸Ûó¾ÛÛ¨Ûé _________ ¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÛýÛ ©ÛÛé …¬ÛÙ©Û×ªÛ ¤øÛé˜Û 
Š¸ÛÁõ ¸ÛÐüÛê˜Ûé ™öé. 

  (a) ¼Ûêïõ ÜµÛÁõÛ¨Ûõ (b) ¼Ûêïõ ÈýÛÛ›÷õ (c) ¼Ûêïõ ÜÈÛÜ¶Û¾ÛýÛ 

  Hawtrey believes that an expansion of _______ leads to a boom. 

  (a) bank credit (b) bank interest  (c)  bank exchange   
____________ 


